EXAM 3 - MATH 111

Friday, November 7, 2003
INSTRUCTOR: George Voutsadakis

Read each problem very carefully before starting to solve it. Each
question is worth 3 points. It is necessary to show your work. Correct
answers without explanations are worth 0 points.

GOOD LUCK!

1. Solve the logarithmic equations

(a) logy (logy (logy x)) = 2
(b) log (227) = (log z)*.
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2. (a) Find the domain of f(z) =1In i—jrg
)

2332—28 — (l)—x.

(b) Solve the exponential equation 3

3. A company has agreed to pay $3 million in 5 years to settle a lawsuit. How much
must they invest now in an account paying 10% compounded quarterly to have the
amount available when it is due?

4. Your uncle, who is 50 years old, is trying to figure out how much money he’ll have
available for retirement. You are college educated, whereas he has only his high school
degree. He comes to you for help. He says that he is going to put $3,000 in a retirement
account at the end of each semester until he reaches the age of 60 and then he will
make no further deposits. If the account pays 5% interest compounded semiannually,
how much will his account have when he retires at the age of 657

5. Solve the following system by the augmented matrix (which is also called the
Gauss-Jordan) method:

r — Yy + z = 8

2 + y — =z = =2

-r + 2y — 3z = -—19
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(a) Compute A- B and B - A.
(b) Is A invertible? If yes, find A~1.

Appendix: Brief Financial Formula Sheet.
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